# A functional limit theorem for trimmed sums of multi-indexed i.i.d. random variables with slowly varying tail probability

### Sakurako Suzuki

(Received November 29, 2004) (Reviced January 24, 2005)

#### Abstract

In this paper, trimmed sums of nonnegative multi-indexed i.i.d. random variables with slowly varying tail probabilities are studied. By using point process method, the author proves a functional limit theorem; i.e., the convergence in law with respect to multi-parameter processes over the space of all functions which are "continuous from above with limits from below" endowed with Skorohod's topology.

# 1 Introduction

Let  $X_1, X_2, \cdots$  be a sequence of independent, identically distributed (i.i.d.) nonnegative random variables with common distribution function F(x), and let  $S_n = X_1 + X_2 + \cdots + X_n$ . Now in this paper, we shall assume that

$$1 - F(x) = l(x) \quad x \ge 0,\tag{1}$$

where l(x) is slowly varying at  $\infty$ . We shall assume also l(x) > 0 for every  $x \ge 0$  to avoid exceptional cases, and denote  $\frac{1}{l(x)}$  by L(x); it is sometimes more convenient to consider its reciprocal since l(x) is non-increasing. Notice that L(x) is nondecreasing, slowly varying and right-continuous. Since every linear normalization of  $S_n$  leads to a degenerate limiting distribution in this case, we consider a nonlinear normalization of Darling type:  $\frac{1}{n}L(S_n)$  (see [3] for the results). For the process  $\frac{1}{n}L(S_{[nt]})$ , the convergence of the semi-group was obtained by [11], and its weak convergence in càdlàg function space was obtained by [6]: Let  $X_n \stackrel{\mathscr{D}}{\longrightarrow} X$  denote convergence in law of random elements of the function space  $D([0,\infty) \to \mathbb{R})$  endowed with  $J_1$ -topology. This notation shall also be used to express weak convergence of the laws of random elements of any other topological spaces. When we need to emphasize the space, we write, for example,  $X_n \stackrel{\mathscr{D}}{\longrightarrow} X$  in  $D([0,\infty) \to \mathbb{R})$ .

Theorem A([6])

Under the assumption (1),

$$\frac{1}{n}L(S_{[nt]}) \xrightarrow{\mathscr{D}} m(t), \quad n \to \infty \quad in \ D([0, \infty) \to \mathbb{R}),$$

where  $m(t) = \max_{0 < s \le t} p(s)$ , (m(0) = 0), and p is Poisson point process with intensity measure  $x^{-2}dx$ .

The present paper is an extension of Theorem A. We shall treat the case of the trimmed sum and multi-dimensional time parameter. Let  $\{X_{i_1,i_2,\cdots,i_d}, i_k \in \mathbb{N}, d=1,2,\cdots\}$  be a system of multi-indexed i.i.d. nonnegative random variables with common distribution function F(x), and let

$$S_{N_1,\dots,N_d} = \sum_{i_1 \le N_1} \dots \sum_{i_d \le N_d} X_{i_1,\dots,i_d} \quad (N_k \in \mathbb{N}).$$

For every  $r = 0, 1, 2, \dots$ , we define the *trimmed sum* by

$$S_{N_1,\dots,N_d}^{(r)} = \begin{cases} S_{N_1,\dots,N_d} &, \text{for } r = 0\\ S_{N_1,\dots,N_d} - (M_{N_1,\dots,N_d}^{(1)} + \dots + M_{N_1,\dots,N_d}^{(r)}), & \text{for } 1 \le r \le N_1 \dots N_d\\ 0 &, \text{for } r > N_1 \dots N_d, \end{cases}$$

where

2

$$M_{N_1,\cdots,N_d}^{(k)} = \text{k-th} \max_{\substack{(i_1,\cdots,i_d) \in \\ (0,N_1] \times \cdots \times (0,N_d]}} X_{i_1,\cdots,i_d}.$$

In this paper we shall prove the convergence in law of a process  $\frac{1}{n^d}L(S_{[nt_1],\cdots,[nt_d]}^{(r-1)})$  over the function space  $D([0,\infty)^d\to\mathbb{R})$  which denotes the totality of real-valued functions which are "continuous from above with limits from below" endowed with Skorohod's topology (see [9] for definition). We usually prove the weak convergence in function space by proving weak convergence of the finite-dimensional distributions and then proving tightness. However, it dose not seem easy to check the well-known conditions for tightness such as Bickel and Wichura's moment condition (see [2] and [1]), thus we shall adopt a direct method: On a suitable probability space we shall construct processes which are distributed like  $\frac{1}{n^d}L(S_{[nt_1],\cdots,[nt_d]}^{(r-1)})$ ,  $n=1,2,\cdots$  and which converge to a limiting process almost surely in Skorohod's topology. In order to state the limiting process, we define

$$(m^{(r)}(t_1,\cdots,t_d))_{t_k>0}, \quad (m^{(r)}(0,\cdots,0)=(0,\cdots,0)),$$

where

$$m^{(r)}(t_1,\cdots,t_d) = \text{r-th} \max_{\substack{(s_1,\cdots,s_d) \in \\ (0,t_1] \times \cdots \times (0,t_d]}} p(s_1,\cdots,s_d),$$

and p is Poisson point process of d-dimensional time parameter with its mean measure  $x^{-2}dx$ .

## 2 Main theorem

Our main result is the following theorem.

**Theorem 2.1** Under the assumption (1), for every  $r = 1, 2, \cdots$ 

$$\frac{1}{n^d}L(S_{[nt_1],\cdots,[nt_d]}^{(r-1)}) \xrightarrow{\mathscr{D}} m^{(r)}(t_1,\cdots,t_d), \quad n \to \infty \quad in \quad D([0,\infty)^d \to \mathbb{R}).$$

We divide the proof into two parts. It is clear that Theorem 2.1 follows immediately from the following two propositions:

**Proposition 2.2** For every  $t_1, \dots, t_d > 0$ 

$$\frac{1}{n^d}L(M_{[nt_1],\cdots,[nt_d]}^{(r)}) \xrightarrow{\mathscr{D}} m^{(r)}(t_1,\cdots,t_d) \quad n \to \infty \quad in \ D([0,\infty)^d \to \mathbb{R}).$$

**Proposition 2.3** For every  $T_1, \dots, T_d > 0$ 

$$\lim_{n\to\infty} \sup_{\substack{(t_1,\dots,t_d)\in\\(0,T_1]\times\dots\times(0,T_d]}} \mid \frac{1}{n^d} L(S_{[nt_1],\dots,[nt_d]}^{(r-1)}) - \frac{1}{n^d} L(M_{[nt_1],\dots,[nt_d]}^{(r)}) \mid = 0 \quad a.s.$$

We shall prove this theorem only for r=1 and d=2, because the case of  $d\geq 3$  and  $r\geq 2$  can be treated by similar means as r=1 and d=2 replacing max with r-th max.

## Proof of Proposition 2.2.

Let U be a random variable uniformly distributed on (0,1), and let  $V_{i,j}$   $(i,j=1,2,\cdots)$  be independent copies of  $V=\frac{1}{U}$ . Now we shall define a real-valued point function  $p_n$  as follows. The domain  $D_{p_n}$  of

 $p_n$  is  $\{(\frac{i_1}{n}, \frac{i_2}{n}): i_1, i_2 = 1, 2, \dots\}$  and we put  $p_n(t_1, t_2) = \frac{V_{i_1, i_2}}{n^2}$  for  $(t_1, t_2) = (\frac{i_1}{n}, \frac{i_2}{n})$ . Thus the counting measure of  $p_n$  is

$$N_{p_n}(dt_1dt_2dx) = \sum_{i_1 \le [nt_1]} \sum_{i_2 \le [nt_2]} \delta_{(\frac{i_1}{n}, \frac{i_2}{n}, \frac{V_{i_1, i_2}}{n^2})} (dt_1dt_2dx),$$

where  $\delta_{(t_1,t_2,x)}$  denotes Dirac measure located at  $(t_1,t_2,x)$ . Now notice that

$$\begin{split} E[N_{p_n}([0,t_1]\times[0,t_2]\times(x,\infty))] \\ &= \sum_{i_1\leq [nt_1]i_2\leq [nt_2]} P[\frac{V_{i_1,i_2}}{n^2}\geq x] = \sum_{i_1\leq [nt_1]i_2\leq [nt_2]} P[\frac{1}{V_{i_1,i_2}}\leq \frac{1}{xn^2}] = [nt_1][nt_2]\frac{1}{xn^2} \\ &\longrightarrow \frac{t_1t_2}{x} = E[N_p([0,t_1]\times[0,t_2]\times(x,\infty))], \quad n\to\infty. \end{split}$$

This implies that the point process  $\{p_n\}_n$  converge in law to the process p which was defined at the previous section. (For details see [8]. See also [7].) Then we can construct the process  $\hat{p}_n$  which converges to p almost surely on a suitable probability space. No confusion of notation should occur, and thus we shall not distinguish between  $\hat{p}_n$  and  $p_n$  for simplicity. Consequently, it holds that

$$m_n^{(1)}(t_1, t_2) \xrightarrow{\mathscr{D}} m^{(1)}(t_1, t_2), \quad n \to \infty \text{ in } D([0, \infty)^2 \to R),$$

where  $m_n^{(1)}(t_1,t_2) = \max_{\substack{(s_1,s_2) \in \\ (0,t_1] \times (0,t_2]}} p_n(s_1,s_2)$ . Since  $X_{i_1,i_2} \stackrel{\mathscr{L}}{\sim} L^{-1}(V_{i_1,i_2})$ , where  $\stackrel{\mathscr{L}}{\sim}$  means equivalence in distribution, we have that

$$\frac{1}{n^2}L(M_{[nt_1],[nt_2]}^{(1)}) \stackrel{\mathscr{L}}{\sim} \frac{1}{n^2}L(L^{-1}(n^2 \cdot m_n^{(1)}(t_1,t_2))).$$

We also have that

$$\frac{1}{n^2}L(L^{-1}(n^2 \cdot m_n^{(1)}(t_1, t_2))) \sim m_n^{(1)}(t_1, t_2), \quad n \to \infty,$$

where  $f(x) \sim g(x)$  means  $\lim_{x\to\infty} \frac{f(x)}{g(x)} = 1$ , because we can show that  $L(L^{-1}(x)) \sim x$  as  $x\to\infty$  from the fact L(x) is slowly varying. Consequently, we have that

$$\frac{1}{n^2} L(M_{[nt_1],[nt_2]}^{(1)}) \xrightarrow{\mathscr{D}} m^{(1)}(t_1,t_2), \quad n \to \infty \quad in \, D([0,\infty)^2 \to R),$$

which completes the proof of Proposition 2.2.

#### Proof of Proposition 2.3.

Since we have that

$$S_{[nt_1],[nt_2]} \stackrel{\mathscr{L}}{\sim} \sum_{i_1 \leq [nt_1]} \sum_{i_2 \leq [nt_2]} L^{-1}(n^2 \cdot \frac{V_{i_1,i_2}}{n^2}) = \int_0^{t_1} \int_0^{t_2} \int_{x>0} L^{-1}(n^2x) N_{p_n}(ds_1 ds_2 dx),$$

it is sufficient for the proof of this proposition to show that for every  $T_1, T_2 > 0$ 

$$\lim_{n\to\infty} \sup_{\substack{(t_1,t_2)\in\\(0,T_1]\times(0,T_2]}} \mid \frac{1}{n^2} L(\int_0^{t_1} \int_0^{t_2} \int_{x>0} L^{-1}(n^2x) N_{p_n}(ds_1 ds_2 dx)) - \frac{1}{n^2} L(L^{-1}(n^2 m_n^{(1)}(t_1,t_2))) \mid = 0 \quad a.s. \quad (2)$$

To this end, we shall divide  $\int_0^{t_1} \int_0^{t_2} \int_{x>0} L^{-1}(n^2x) N_{p_n}(ds_1 ds_2 dx)$  into two parts as follows:

$$\int_{0}^{t_{1}} \int_{0}^{t_{2}} \int_{0 < x < \varepsilon} L^{-1}(n^{2}x) N_{p_{n}}(ds_{1}ds_{2}dx) + \int_{0}^{t_{1}} \int_{0}^{t_{2}} \int_{x > 0} L^{-1}(n^{2}x) N_{p_{n}^{\varepsilon}}(ds_{1}ds_{2}dx)$$

$$= X_{n}^{\varepsilon}(t_{1}, t_{2}) + Y_{n}^{\varepsilon}(t_{1}, t_{2}),$$

where  $p_n^{\varepsilon} = p_n \cdot 1_{\{p_n > \varepsilon\}}$ . Notice that

$$|\frac{1}{n^{2}}L(X_{n}^{\varepsilon}(t_{1},t_{2})+Y_{n}^{\varepsilon}(t_{1},t_{2})) - \frac{1}{n^{2}}L(L^{-1}(n^{2}m_{n}^{(1)}(t_{1},t_{2}))) |$$

$$\leq |\frac{1}{n^{2}}L(X_{n}^{\varepsilon}(t_{1},t_{2})+Y_{n}^{\varepsilon}(t_{1},t_{2})) - \frac{1}{n^{2}}L(Y_{n}^{\varepsilon}(t_{1},t_{2})) | + |\frac{1}{n^{2}}L(Y_{n}^{\varepsilon}(t_{1},t_{2})) - \frac{1}{n^{2}}L(L^{-1}(n^{2}m_{n}^{(1)}(t_{1},t_{2})) |,$$

and hence it is sufficient to show the following two claims; for every  $T_1, T_2 > 0$ ,

(i) 
$$\lim_{n\to\infty} \sup_{\substack{(t_1,t_2)\in\\(0,T_1)\in\{0,T_2\}}} |\frac{1}{n^2}L(Y_n^{\varepsilon}(t_1,t_2)) - \frac{1}{n^2}L(L^{-1}(n^2m_n^{(1)}(t_1,t_2))| = 0$$
 a.s.

$$(ii) \lim_{n \to \infty} \sup_{\substack{(t_1, t_2) \in \\ (0, T_1) \times (0, T_2)}} \mid \frac{1}{n^2} L(X_n^{\varepsilon}(t_1, t_2) + Y_n^{\varepsilon}(t_1, t_2)) - \frac{1}{n^2} L(Y_n^{\varepsilon}(t_1, t_2)) \mid = 0 \ a.s.$$

Let us begin with (i). We can replace  $Y_n^{\varepsilon}(t_1,t_2)$  by the form of finite sum since  $N_{p_n^{\varepsilon}}$  is finite almost surely. Let  $n_0(\varepsilon) = N_{p_n^{\varepsilon}}((0,\infty)^2,\mathbb{R}_+)$ , which is a random variable depending on  $\varepsilon$ , and let  ${}^{\varepsilon}m_n^{(1)}(t_1,t_2) = \max_{\substack{(s_1,s_2)\in (0,t_1]\times(0,t_2]}} p_n^{\varepsilon}(s_1,s_2)$ . Now it follows that

$$\frac{1}{n^2}L(L^{-1}(n^2 \cdot {}^{\varepsilon}m_n^{(1)}(t_1, t_2))) \le \frac{1}{n^2}L(Y_n^{\varepsilon}(t_1, t_2)) \le \frac{1}{n^2}L(n_0(\varepsilon) \cdot L^{-1}(n^2 \cdot {}^{\varepsilon}m_n^{(1)}(t_1, t_2)))$$
(3)

and we shall show that it holds almost surely,

$$\lim_{n \to \infty} \sup_{\substack{(t_1, t_2) \in \\ (0, T_1) \times (0, T_2)}} \left| \frac{1}{n^2} L(n_0(\varepsilon) \cdot L^{-1}(n^2 \cdot \varepsilon m_n^{(1)}(t_1, t_2))) - \frac{1}{n^2} L(L^{-1}(n^2 \cdot \varepsilon m_n^{(1)}(t_1, t_2))) \right| = 0, \tag{4}$$

for every  $T_1, T_2 > 0$ . To this end, first we observe that

$$\begin{split} &\lim_{n \to \infty} \sup_{\substack{(t_1, t_2) \in \\ [\varepsilon, T_1] \cup [\varepsilon, T_2]}} \big| \; \frac{1}{n^2} L(n_0(\varepsilon) \cdot L^{-1}(n^2 \cdot {}^\varepsilon m_n^{(1)}(t_1, t_2))) - \frac{1}{n^2} L(L^{-1}(n^2 \cdot {}^\varepsilon m_n^{(1)}(t_1, t_2))) \, \big| \\ & \leq \lim_{n \to \infty} \sup_{\substack{(t_1, t_2) \in \\ (0, T_1] \cup (0, T_2)}} \big| \; \frac{1}{n^2} L(n_0(\varepsilon) \cdot L^{-1}(n^2 \cdot {}^\varepsilon m_n^{(1)}(t_1, t_2))) - \frac{1}{n^2} L(L^{-1}(n^2 \cdot {}^\varepsilon m_n^{(1)}(t_1, t_2))) \, \big| \\ & \leq \lim_{n \to \infty} \sup_{\substack{0 < \varepsilon \, m_n^{(1)}(t_1, t_2) \\ \le \varepsilon \, m_n^{(1)}(T_1, T_2)}} \Big\{ \; \big| \; \frac{1}{n^2} L(n_0(\varepsilon) \cdot L^{-1}(n^2 \cdot {}^\varepsilon m_n^{(1)}(t_1, t_2))) - {}^\varepsilon m_n^{(1)}(t_1, t_2) \big| \\ & + \big| \; {}^\varepsilon m_n^{(1)}(t_1, t_2) - \frac{1}{n^2} L(L^{-1}(n^2 \cdot {}^\varepsilon m_n^{(1)}(t_1, t_2))) \, \big| \; \Big\}. \end{split}$$

Now we have that for every  $\lambda > 0$  and x > 0,

$$\lim_{n \to \infty} \frac{L(\lambda L^{-1}(n^2 x))}{n^2} = x,\tag{5}$$

since  $L^{-1}(x)$  is rapidly varying and increasing. This convergence is uniform for x on every finite interval, since  $\frac{L(\lambda L^{-1}(n^2x))}{n^2}$  is monotone in x and its limiting function is continuous. Therefore for every  $T_1, T_2 > 0$ , it follows almost surely that

$$\lim_{n \to \infty} \sup_{\substack{(t_1, t_2) \in \\ [\varepsilon, T_1] \times [\varepsilon, T_2]}} \left| \frac{1}{n^2} L(n_0(\varepsilon) \cdot L^{-1}(n^2 \cdot {}^{\varepsilon} m_n^{(1)}(t_1, t_2))) - \frac{1}{n^2} L(L^{-1}(n^2 \cdot {}^{\varepsilon} m_n^{(1)}(t_1, t_2))) \right| = 0. \tag{6}$$

Next let us consider the part of  $(0, \varepsilon] \times (0, \varepsilon]$ . It follows that

$$\lim_{n \to \infty} \sup_{(t_1, t_2) \in (0, \varepsilon]^2} \left| \frac{1}{n^2} L(n_0(\varepsilon) \cdot L^{-1}(n^2 \cdot \varepsilon m_n^{(1)}(t_1, t_2))) - \frac{1}{n^2} L(L^{-1}(n^2 \cdot \varepsilon m_n^{(1)}(t_1, t_2))) \right| \\
\leq \lim_{n \to \infty} \frac{1}{n^2} L(n_0(\varepsilon) \cdot L^{-1}(n^2 \cdot \varepsilon m_n^{(1)}(\varepsilon, \varepsilon))) \\
\leq \lim_{n \to \infty} \left\{ \left| \frac{1}{n^2} L(n_0(\varepsilon) \cdot L^{-1}(n^2 \cdot \varepsilon m_n^{(1)}(\varepsilon, \varepsilon))) - \varepsilon m_n^{(1)}(\varepsilon, \varepsilon) \right| + \varepsilon m_n^{(1)}(\varepsilon, \varepsilon) \right\}. \tag{7}$$

If we choose  $\varepsilon > 0$  so that  $\varepsilon \leq {}^{\varepsilon}m_n^{(1)}(t_1, t_2)$ , then  ${}^{\varepsilon}m_n^{(1)}(t_1, t_2) = m_n^{(1)}(t_1, t_2)$ . Therefore from (5) and the fact that  $m_n^{(1)}(t_1, t_2)$  converges to  $m^{(1)}(t_1, t_2)$  almost surely as  $n \to \infty$ , it holds that

[RHS of (7)] = 
$$m^{(1)}(\varepsilon, \varepsilon)$$
.

Since  $m^{(1)}(\varepsilon,\varepsilon)$  converges to 0 as  $\varepsilon\to 0$ , we conclude that almost surely

$$\lim_{\varepsilon \to 0} \lim_{n \to \infty} \sup_{\substack{(t_1, t_2) \in \\ (0, \varepsilon)^2}} \left| \frac{1}{n^2} L(n_0(\varepsilon) \cdot L^{-1}(n^2 \cdot \varepsilon m_n^{(1)}(t_1, t_2))) - \frac{1}{n^2} L(L^{-1}(n^2 \cdot \varepsilon m_n^{(1)}(t_1, t_2))) \right| = 0.$$
 (8)

We have (4) from (6) and (8), and hence (i) is proved.

Next we shall show (ii). Since  $N_{p_n}$  is infinite, we can not adopt the same argument for  $X_n^{\varepsilon}(t_1, t_2)$  as that for  $Y_n^{\varepsilon}(t_1, t_2)$ . Thus we shall use the following proposition.

**Proposition 2.4** For every  $\varepsilon > 0$ , it holds that

$$\limsup_{n\to\infty} \frac{1}{n^2} L(X_n^{\varepsilon}(t_1, t_2)) \le \varepsilon, \quad \text{for any } t_1, t_2 \ge 0.$$

We postpone the proof of it until Section 3 and return to the proof of (ii). If we choose  $\varepsilon$  so that  $\varepsilon \leq {}^{\varepsilon} m_n^{(1)}$ , then from (i) and Proposition 2.4 it holds that for all sufficiently large n

$$\frac{1}{n^2} L(Y_n^{\varepsilon}(t_1, t_2)) \le \frac{1}{n^2} L(X_n^{\varepsilon}(t_1, t_2) + Y_n^{\varepsilon}(t_1, t_2)) \le \frac{1}{n^2} L(2 \cdot Y_n^{\varepsilon}(t_1, t_2)). \tag{9}$$

Since L(x) is slowly varying and it has been shown that  $\frac{1}{n^2}L(Y_n^{\varepsilon}(t_1,t_2))$  converges uniformly, we have for any  $T_1,T_2>0$ ,

$$\lim_{n \to \infty} \sup_{(t_1, t_2) \in (0, T_1] \times (0, T_2]} \left| \frac{1}{n^2} L(2 \cdot Y_n^{\varepsilon}(t_1, t_2)) - \frac{1}{n^2} L(Y_n^{\varepsilon}(t_1, t_2)) \right|$$

$$= \lim_{n \to \infty} \sup_{\substack{(t_1, t_2) \in \\ (0, T_1) \times (0, T_2)}} \frac{1}{n^2} L(Y_n^{\varepsilon}(t_1, t_2)) \cdot \left| \frac{L(2 \cdot Y_n^{\varepsilon}(t_1, t_2))}{L(Y_n^{\varepsilon}(t_1, t_2))} - 1 \right| = 0 \quad a.s.$$
(10)

From (9) and (10), (ii) is shown immediately. This completes the proof of Proposition 2.3.

# 3 Proof of Proposition 2.4

For the proof of Proposition 2.4, we prepare

**Lemma 3.1** Let  $L(x) \ge 0, x \ge 0$ , be nondecreasing and slowly varying at  $\infty$ . Then for every  $\delta > 0$ , there exist an  $f_0(x)$  and  $A_{\delta}$  such that

(i) 
$$L^{-1}(x) \le f_0(x) \le L^{-1}((1+\delta)x)$$
, for any  $x > A_{\delta}$ ,

(ii)  $\frac{f_0(x)}{x^2}$  is nondecreasing, for any  $x \geq A_{\delta}$ .

## Proof

It is known that L(x) is slowly varying if and if  $L(x) = a(x) \exp[\int_1^x \frac{\epsilon(t)}{t} dt]$  for some a(x) and  $\epsilon(x)$ , where  $\epsilon(x) \to 0$ ,  $a(x) \to a < \infty$  as  $x \to \infty$  (see [4]). We can assume that  $\epsilon(x)$  is continuously differentiable, and that a(x) > 0 and  $\epsilon(x) > 0$  here (see the proof of corollary of [4] p.282). Furthermore from easy computation we have  $L^{-1}(x) = \exp[\int_1^{c(x)x} \frac{b(t)}{t} dt]$ , where we assume that  $c(x) \to c > 0$ ,  $b(x) \to \infty$  as  $x \to \infty$ .

We shall begin with the proof of (i). Notice that it holds for every  $\delta > 0$ , as x is sufficiently large,  $c(x) \leq (1 + \frac{\delta}{2})c \leq (1 + \delta)c((1 + \delta)x)$ , therefore we have that

$$\int_{1}^{c(x)x} \frac{b(t)}{t} dt \le \int_{1}^{(1+\frac{\delta}{2})cx} \frac{b(t)}{t} dt \le \int_{1}^{c((1+\delta)x)(1+\delta)x} \frac{b(t)}{t} dt.$$

Put  $f_0(x) = \exp\left[\int_1^{(1+\frac{\delta}{2})cx} \frac{b(t)}{t} dt\right]$ , and then the proof of (i) is complete. We shall next prove (ii). Since

$$\exp\left[\int_{1}^{(1+\frac{\delta}{2})cx} \frac{2}{t} dt\right] = \left\{ (1+\frac{\delta}{2}) \right\}^{2} \cdot x^{2},$$

we have immediately that

6

$$\frac{f_0(x)}{x^2} = \{(1+\frac{\delta}{2})\}^2 \cdot \exp\left[\int_1^{(1+\frac{\delta}{2})cx} \frac{b(t)-2}{t} dt\right].$$

Now, since  $b(x) \to \infty$  as  $x \to \infty$ , it follows that  $\frac{f_0(x)}{x^2}$  is uniformly increasing as x is sufficiently large, and this completes the proof of Lemma 3.1.

#### Proof of Proposition 2.4.

We devide  $X_n^{\epsilon}(t_1, t_2)$  into two parts as follows

$$\int_{0}^{t_{1}} \int_{0}^{t_{2}} \int_{\substack{0 < x < \varepsilon \\ n^{2}x > A_{\delta}}} L^{-1}(n^{2}x) N_{p_{n}}(ds_{1}ds_{2}dx) + \int_{0}^{t_{1}} \int_{0}^{t_{2}} \int_{\substack{0 < x < \varepsilon \\ n^{2}x \le A_{\delta}}} L^{-1}(n^{2}x) N_{p_{n}}(ds_{1}ds_{2}dx)$$

$$\stackrel{\text{put}}{=} I + II.$$

Let us begin with the part I. From Lemma 3.1 we have that

$$I \leq \int_{0}^{t_{1}} \int_{0}^{t_{2}} \int_{n^{2}x > A_{1}}^{ex} \frac{f_{0}(n^{2}x)}{(n^{2}x)^{2}} (n^{2}x)^{2} N_{p_{n}}(ds_{1}ds_{2}dx) \leq \frac{1}{\varepsilon^{2}} L^{-1}(n^{2}(1+\delta)\varepsilon) \int_{0}^{t_{1}} \int_{0}^{t_{2}} \int_{x>0} x^{2} N_{p_{n}}(ds_{1}ds_{2}dx).$$
(11)

Since the convergence of  $p_n$  has been shown, it follows that

$$\int_{0}^{t_{1}} \int_{0}^{t_{2}} \int_{x>0} x^{2} N_{p_{n}}(ds_{1}ds_{2}dx) \longrightarrow \int_{0}^{t_{1}} \int_{0}^{t_{2}} \int_{x>0} x^{2} N_{p}(ds_{1}ds_{2}dx) \quad a.s. \quad n \to \infty.$$

Therefore we have that for every  $\delta > 0$ , it holds that almost surely

$$\limsup_{n\to\infty} \frac{1}{n^2} L\left(\text{R.H.S. of (11)}\right) = \limsup_{n\to\infty} \frac{1}{n^2} L\left(L^{-1}(n^2(1+\delta)\varepsilon)\right) = (1+\delta)\varepsilon.$$

Hence it follows that

$$\limsup_{n \to \infty} \frac{1}{n^2} L(I) \le \varepsilon \quad a.s. \tag{12}$$

Next we shall consider the part II. Note that  $[nt_1][nt_2]$  is the total number of points of  $p_n$ , and hence we see that for every  $T_1, T_2$  ( $0 < t_1 \le T_1, 0 < t_2 \le T_2$ ),

$$II \leq \int_0^{t_1} \int_0^{t_2} \int_{\substack{0 < x < \varepsilon \\ n^2 x < A_{\delta}}}^{t_2} L^{-1}(A_{\delta}) N_{p_n}(ds_1 ds_2 dx) \leq L^{-1}(A_{\delta}) [nt_1] [nt_2] \leq L^{-1}(A_{\delta}) n^2 T_1 T_2.$$

Since we see that  $\lim_{n\to\infty} \frac{1}{n^2} L(n^2) = 0$ , we have that

$$\lim_{n \to \infty} \frac{1}{n^2} L(L^{-1}(A_{\delta})n^2 T_1 T_2) = \lim_{n \to \infty} \frac{1}{n^2} L(n^2) = 0.$$

Therefore it follows that

$$\lim_{n \to \infty} \frac{1}{n^2} L(II) = 0,\tag{13}$$

and hence from (12) and (13) we have

$$\limsup_{n \to \infty} \frac{1}{n^2} L(X_n^{\varepsilon}(t_1, t_2)) = \limsup_{n \to \infty} \frac{1}{n^2} L(I + II) \le \varepsilon,$$

which completes the proof of Proposition 2.4.

## References

- [1] P. J. Bickel and M. J. Wichura, Convergence criteria for multiparameter stochastic processes and some applications. Ann. Math. Statist. **42**(1971), 1656–1670.
- [2] P. Billingsley, Convergence of Probability Measures. 2nd ed., John Wiley, New York, 1999.
- [3] D. A. Darling, The influence of the maximum term in the addition of independent random variables. Trans. Amer. Math. Soc., **73**(1952), 95–107.
- [4] W. Feller, An introduction to probability theory and its applications. Vol.2, 2nd ed., John Wiley, New York, 1971.
- [5] N. Ikeda and S. Watanabe, Stochastic differential equations and diffusion processes. North Holland, Amsterdam/Kodansha, Tokyo, 1981.
- [6] Y. Kasahara, A limit theorem for sums of i.i.d. random variables with slowly varying tail probability. J. Math. Kyoto Univ. **26**(1986), No.3, 437–443.
- [7] Y. Kasahara and M. Maejima, Weak convergence of functionals of point process on R<sup>d</sup>. Stoc. Anal., 73–84, Lecture Notes in Math., 1322, Springer, Berlin, 1988.
- [8] Y. Kasahara and S. Watanabe, Limit theorems for point process and their functionals. J. Math. Soc. Japan 38(1986), No.3, 543–574.
- [9] Z. A. Lagodowski and Z. Rychlik, Weak convergence of probability measures on the function space  $D_d[0,\infty)$ . Bull. PolishAcad. Sci. Math. **34**(1986), no.5-6, 329–335.
- [10] T. Lindvall, Weak convergence of probability measures and random functions in the function space  $D[0, \infty]$ . J. Appl. Prob., **10**(1973), 109–121.
- [11] S. Watanabe, A limit theorem for sums of non-negative i.i.d. random variables with slowly varying tail probabilities. Proc. 5th International Conf. Multivariate Anal., 249-261, North-Holland, Amsterdam, 1980.

Sakurako Suzuki Graduate School of Science and Humanities Ochanomizu University Tokyo, 112-8610 Japan E-mail:Suzukisakurako@aol.com